Schroff’

Plug-in unit with static trapeziform handle

Part no.: 20818 027

Features:

e Front panel unshielded
¢ Handle without extraction function

lluztration showes plug-in unit, 6 U, 4 HP

Technical Information:

Diescription Height “Width Height B

T4

” Plug-in unit with static trapeziform handle & I B HP

- Downloads:

Download CAD data in WG format (Log in required) ﬂ

Download CAD data in DWF format (Log in required) ﬂ
User Manual (Log in required)

To gain aceess to the additional information you mustlogin.

. If wau do not yet hawve a uzar name, you may registar here.,

Delivery comprises: kit

ltern Lty Description

1 2 Flastic handle, trapezium shape, PPE, grey

ﬁlzsstﬁigﬁ:t;itéugzna;zi;,[Eemfprfr;? :2 :2 | l[dentification plate, Al 1.5 mm, anodised, cut edges, plain
supplied procucts. 4 4 Board bracket, Zn die-cast
5 1 | Front pann_el fu:urtrape_z_ium shaped handle,
front anodised, rear insdescent green chromated

.B .E | sleeve, PA, grey, up to 7 HP frant panel width

&) .4 | oleeve, PA, grey, from o HP front panel width

5 .E | Fozidrive/slotted callar screw, St, nickel-plated, M2.5 = 11 and 12,3, up to ¥ HP frant panel width |
.El .d | Fozidrive/slotted collar screw, St, nickel-plated, M2.5 = 11 and 12.3, from & HP front panel width |
11 .E | Faised countersunk screw, St, nickel-plated, M2.5 = 8
| 13 .4 .Washer, A27, DIM 125
| 14 .4 | Flathead screw, St, nickel-plated, W25 = 10

15 .E | Hexagon nut, St, nickel-plated, M2.5
| 16 .E | Flathead screw, St, nickel-plated, M2.5 = 12

17 .E | Flathead screw, 5t, nickel-plated, M2.5 = 16

: i &
Add to basket el

L« |



